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Sr. No. General Paper
PAPER I

The following are the technology developmental phases.
Match List — 1 with List - I

List - 1 List - 11
(i)  Organizational Phase (a) Specific goals and
objectives are
developed to achieve

the vision
(i)  Assessment and (b) The technology planning
Analysis Phase feam is formed
(i) Formulafion Phase (c) Thelong-term goals are
achieved

(d) Based on the vision goals
and objectives, a
technology plan is
developed

GetTou(mHLemEU CISTLHEVHIL LI eueTTEF HlemsuasiT.
UL lguied I-gg U196y I 2 L 6T Glum(m&&eyLb.

uLligwiev | uLiguwev |l
(1) mHlyeurs blemev (i) OsTeneGHITE s
Bleus&lemenr SienLeUSM(S
GOHUILL &Ml&GasmsTasT

WMHMILD CrHIT& & migsiT
2 _(h6UME&LILI(H & 6Tm6DT.
(2) &swwflul({H wHmb (i) CsThed BILL HLLblLev
L@GLUTeY hlemey (&0 2 (HEUMSSLILILLG).
(3) 2-(HEUMSEGLD Hleney (iii)  IDEDOTL &6V 608 (S 6iT
ST WILILILL 63T,
(iv) O&memeuCmms s
©)6v8 (& S6IT MHM|LD
(&M &CameTas6rfl6oT
SjgliuenLuiley, e(m
R mPl6LHILLISSILLID

2 _(HUMSSHLLILLG).

A (D)-(a), (iD)-(b), (iiD)~(c)
1-(i), 2-(ii), 3-(iii)
B: (i)-(b), (iD)-(a), (iii)-(c )
1-(ii), 2-(i), 3-(iii)
C: (D), (iD)-(c), (iiD)-(b)
1-(iv), 2-(iii), 3-(ii)
D: (i)-(b), (iD)-(), (ii)-(d)
1-(ii), 2-(i), 3-(iv)
2 Given below are two statements related to evaluation system.
Statement (I)Formative evaluation is administered during the lesson taught or instruction imported

Statemet (II)Summative evaluation summarizes the final progress of the students as a result of a course of learning unit.
Select the correct option

LHULSTLH WM QS TLTUTET G F60oT(® SoMHMIG6T HCL Q& TH &S LILIL (H6T6TeoT.

NGBS [ LML GG &MHLNGGLD CUMS 3j6veual 3Mleymigsedler UMl eueTyml LHILILIH Bliau&&s IuGRmSI.
IMEm & II: O5TGSS M G LILTH) 6T6TLIS ([ LML SH 6T HMHM6L 3(60& &6 6T eflemareld Lomeuorel & erfler @ miG)
(WDETCOTHMHENS & ([H&HSHDMHS Fo NIH M.

Fiflwmeor eN@BLILG CoHTellener G5 Ta & UIWIa]LD.

A: Statement (I) is correct but Statement (II) is incorrect

Famm 1 FWMTETS SL6TMEV Sa MM 11 &6)MITETSI.

B: Statement (I) is incorrect but Statement (II) is correct

FaMM 1 HEUMITETS S,60TT6V o MM 11 FiflulmeTs!.
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C: Neither Statement (I) nor Statement (II) are correct

Fa oI T LDHMILD ammi 1T GFeoor(HLD Fifl Wi meTemnel 3606v.
D: Both Statement (I) and Statement (II) are correct
Fadml I HMILD Fado I @Tesor(hib Fiflwimereney
3 The level of teaching in which the classroom environment is active and provides opportunity for constructive interaction is .
AIGLILIENM L6V QFW6S6L 2 6Tem &MLIG G560 Bletev 21,88 1L, T TET Q& ITL L8 8 Me0T eUTUILI6n LI GULDMHIGH 6 S
G LD.
A: Memory level of teaching
&ML5 569 60T [Bl60)60TEUS [Bl60I6V
B: Understanding level of teaching
sHLISS606T Lfl 56 Blemev
C: Reflective level of teaching
&HLI5560 6T LTS LLIL Blemey
D: Application level of teaching
SHLI G606 LiweTUT G Blemev
4 is not a step involved in learner controlled instruction.

LOmeoTeUemn s &L G LILGSSID &L EE5 6060 Liedreu B LI [B160Y6V @) (H&SH TSI,

A: Decision about the content

UMLLIQUMBer GMSS (W06 / SFLOMerLd
B: Decision about the initial behaviour

WPBE) Blemey BLEDS SIS L0196 / BFI0MeDTiD
C: Selection and sequencing of learning experiences

HMHMEV VILIGIMBIGHNTS Q5fle] QF IS WenMLILGSSIeIS!
D: Evaluation of the instructional process

2SS Wenmenw LELLTH QFLIgH60

5 provides best opportunity for providing individualized and personalized instruction.

SeoflBUT MHMID SeoflwimeT HHLIGED (LM 6ULPMKIGEISMHE&TET FMHS UL aIpHIGRMSI.

A': Brainstorming strategy
2MeS5TES 2 56

B: Tutorial strategy
LUWme 2 55

C: Assignment strategy
elueLLL 2 55

D: Review strategy
nmieiie] 2 58

6 Select the Secondary Sources of data from the following :
(a) Publications of central and State Government
(b) Historical documents
(c) Technical and Trade data
(d) Questionnaire
Choose the correct option :

LY etraumelestalmnled (S &iye s erledr @) IeuorLTLD Blemey eLN6UEISeM6TS CHIHEOSEH & & LD.
(a) DSH W MHMILD LOMHIL 2 T&Ser 6T Qeuaflui® ser.

(b) GUITEUITMDMI 24,6 6T0T MG &5 6iT.

(0 @gmiflevmi L nhmilh eITSSE ST6)

(d) efleoTmLiLLC g ul6v.

Frflwmer aLULSCHTemer CHI6e| QFUIs.

A: (a),(c), (d) only
a,c,d DL (IO
B: (b), (c)and (d) only
b, ¢, DMHMILD d DL ()LD
C: (a), (b), (c)and (d)
a,b.c, LD(_?)Q.ILD d
D: (a), (b) and (c) only
a, b, DMMILD ¢ L (HLD

7 To find if the deviation of the experiment from theory is just by chance or due to inadequacy of the theory, one can use :
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G&MLUMLIgeNBHES SMHAF WS allevGH W CFMEHmeTWIT VeV GmUTL® Blenewulley G&HTLLITLIT 6TedTLIENS 6B
MW LNeTeuBLd C&FMEHemeaTen ULl LIGHT LM SS6VITLD.

A Sign Test
&b Csiey
B: Mann Whitney U Test
GLoetT - el 6ot W, G516y
C: Test of goodness of Test
Fiflwimeotgl HeoTMI 6TeoTs S DMeo16@& D CH ey
D: Test of Significance
WER WSS &Henll& @G0 CHiey
8 In an experimen research, the investigator is

R CFMGHemeT 2 TTLIFFRUNG, Su,TmIFFWmeTH a6U1.

A': an extraneous variable
Qeueflliy madl
B: aninternal variable
2_gTememin
C: anintervening variable
GmISE0
D: anindependent variable
geflssie Ll
9 The purpose of is to improve a product or process by testing theoretical concepts in actual problem situations.

Qb Sl1eNler GBTESLINMeTS QalefliiLm®m HMID OLU16)] (DML (NETCTHM BIRGSTalF @Lpedley
HHSIGMIIL S 6TE CFMHEn6T QFUISTEGLD.

A: Fundamental Research

I LU U6y
B: Applied Research
20 o LNPIAST® Sienmuileh @ emeruiD Splie)
C: Action Research
QFWLHLL gyliiay
D: Experimental Research
CFMHeM60T FIMTT Y U16
10 Given below are two statements one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A A sample survey is usually extensive in scope

Reason R Therfore, both in the number of cases included and in the manner of their selection, it has to be adequately and faithfully representative of a larger
population.

ECL Q&ETH&SHLILIL(H6TT @ 6uoT(h) FnMMIG6T 60TMI Fn MM A 6T60TMILD LOMGMITEITMI & ITI6U0TLD R 6T60TmILD

G &SLIUL G 6Teng.

Famml A: @@ LTHF] Qe QUTSIEUTS LITHS leTelley @) [HaELD.

SITIeTLD R: 6TeoTGou CFI&HSHLILIL L ULp& G & 6rflair eTettevoll&em & Wilayii nmmild Sjeummled G e enmuilaid, @& 6
GUIMSILOMET LOMMILD 2_6UoTem Lo 66T 2 mILILG Q& TengGean Wl LITHBISHSsIalILOSS Calsuor(®LD.

A: Both A and R are correct and R is the correct explanation of A
A MO R @reorGih Fiflwmerenel LDMMID R 6TedTLIG A@)6oT Fiflwimest aflemg & 1D,
B: Both A and R are correct but R is not the correct explanation of A
A LDMHMILD R @) Fesor(BILD FIfIWITETemn 6l 8,60 M6l R 6T6dT LIS AG) 60T Fiflwiment aflemdasid §)6Ven6y.
C: Adis correct but R is not correct
A FILIMEITS! SLE0TT6L R SaUMTETS).
D: Aisnot correct but R is correct
A SEUMTETSI 36076V R FiflWimeoTal.
1 is the one about which the prediction is made on the basis of the experiment.
eredTLIgl LIFlGFmgameoTulledr &iq LiLen L uf6h &eooflli QFwWwiL@G LD @6TmTELD.

A Independent Variable
BH&TFey Ll

B: Dependent Variable
Fmyy wmm)

C: Controlling Variable
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S EUUT®

D : Extraneous Variable

QauerfliLm ol

12 is a group discussion in which all groups, members are virtually present and communicate at the same time.
GTETLIZI (1 & (W aleuns LD, @ H 6 SMTHBIH GLRESHEHLD, 2 MILINeaTfaHEbn KL SHL L 8T CHISH 60 Hevbdl
Q& meuoT(h QSTLITL] Q&TETRMTI&6T.
A Verbal communication
mUQWLTS Q&TLTL
B: Synchronous communication
RSHmEFa)
C: Non-verbal communication
QEFMM&EHET ALVVTH QGITLITL]
D: Web forums
6UEDI6V LDGOT MM & 6T
13 Recognizing, understandings and addressing the interconnection of relationships and communication is :
2 MEGHEBEGID OSTLTLEGLD GenLulemer @ eneamrlianl HhIBsFEH560, LlbsI0HMeTErsH60 MM $ie &memi s e
GTEOTLIG)
A Engaged listening
FOUTLBHL6T CHLLSI
B: Disengaged listening
FOUTLIgeTrn) CaL LGl
C: Therapeutic listening
FRFeF FTIHS CHL LIS
D: Relational listening
2 me| FMbHS CHLLISI

14 is in need of the ethical reflection of the thinking and acting individual journalist who decides the course of mass communication.
QauGRaTs QsMLFLWeSer GUTHensS §Inmeils @ Fbgemer MmN QF WL Seflliul L LSS flengwimerifler
QBEMIWenm LATGH LIedIL 60 GamalliILGRMmSI.

A: Contemporary Journalism
FLO&TEL @ &LOWI6
B: Existential Journalism
Q®5s6we G5iflwie
C: Information and Communication Technology
S5 IDMHMID QSTLFLTY QS MSlevBIL LD
D: Artificial Intelligence
Q&FWMen 8 Hl6voreoor M6y

15 The responses of the receiver that shape and alter the subsequent messages of the source is

QUK UBE, WSS T ADS5SHSHS OF LT ST IaIMIISS LOTHIIS!

A: Receiver

QuUMILIGT

B: Feedback
LNedremm_ L

C: Noise
QNTFF 6

D: Channel
G&euT6v

16 Which of the following is NOT a characteristic of traditional mass media organizations ?

LY edreumeuesreumnilev 6rg LMLKW Q6@ eg60T 26L& [B] mi6u6or &5 6l 60T FmLILNWeuL] S6v6v?

A Complex and formal organizational structural
1858560 IT60T LOMMILD (LLENMUWITE [BlMIGU60T SemLLL]
B: Reliance on a single gatekeeper for content approval
2 GT6MTL &8 @LUILSNGHG emenm Gl Glitieny BLLNulms s

C: High operational costs


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

17

18

H& QFWLTLH QF6eve|se6r

D: Strong Competitive environment

aUsvIeUTeoT GLIMLLY (& LO6V

If é of a pencil is white, % of the remaining is black and the remaining 3 % cm is blue, then
the total length of the pencil is :

@ GlusttéleSleor é ursl Gleusemer HIMLD, WBH LTHEGHSH60 % UIT&sLD

smenw Hmb wHmib WBewsrTer 3% Gl&.b. umsw Hev B eresflsv

Gluetr&leSlear CloME S, Herb ;
A: 8cm
8 QF LS.
B: 16cm
16 Q&.15.
C: 4cm
4Q&.08.
D: 12cm
12Q&.18.

The single discount equivalent to a series discount of 5%, 10% and 20% is :
5%, 10% LOMMILD 20% 6T60TM QIGITLIT H6TEBHLI &G FLOLDITEOT 62M6MM H6TEHLIL UITETSI:

A: 35%
35%
B: 30.6%
30.6%
C: 31%
31%
D: 31.6%
31.6%

If the selling price is doubled, the profit triples. Then the profit percent is

aflmLeme aflemevemnl @IL19865M60 E6VTLILD (PLDIOL MHIE &G0 e‘rccﬂeu 3G @euLl FHNH G0

A
662
3
2
6éé
B: 100
100
C: 1
105—
105=
3
D: 120

120

GET IT ON

Google Play
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20 The sum of three consecuture number is 39, then the sum of next three consecutive number is :
QB TLIFF W6 eLNEITMI 6T600TS 61160 Tl (D& CH M6t & 39 6760116V, (DS S CLNETMI QG ITLFEFFIWLITEOT 660015 6rfl 60T
Tl DSOS TMSH
A: 42
9
B: 45
45
C: 47
47
D: 50
50
21

Find out the next number in the following series

544,509, 474, 439, ....

ereudid auflenaulley B &5 eT6oTen) 60018 & 60or(HILILILG.
544,509, 474, 439, ....

A: 404
404
B: 414
414
C: 420
420
D: 445
445
22 Read the information given below and answer the question that follow :

(i) There is a group of five boys

(ii) Ravi is second in height but younger than sankar

(iii) Kanthan is taller than Gopi and elder to Sankar

(iv) Gopi is taller than Murali but younger in age

(v) Sankar and Murali are of the same age but Sankar is tallest among them.

If they are arranged in the descending order of their height who will be in the third position ?

GECL Q&EMH&&ILLGETET alleuTmhi&GemeT LSS s QFMLTHS CaLasLILL (heTer CaetallsE LFleveflgasea)n
(i) BB S P MIAITHEET Q& TEUOTL (H (LD _6TenGl.

(i) @ el 6T6OTLIGUGHT 2 WITSHH 6V @) T600TL TS T LD LE0TITEV FhIGHEnT el @) 6m6TLIAIET TEHELD 61T

(i) 85155 60T 6T6TLIGUGT G MLIem i el 2 WIFLOMETaUsDILD DMHMID &FhIG([HEE LGS SHEUSTILD S,6M M60T.

(iv) B& ML eTedTLIGUET (LnFerfleml el 2 WITLDTETA 60T 2,607 M6V 6UWIG6V @) 606ITULIEUEDT 2,61 TE0T.

(v) FBIS@GLO WIeflud 55 aUWLSIENLLAITSHET SauFserfle FmisT e 2 WIFLnmeTall.

SLEOTITEL @) QUT&HET, 2 WTSHH 60T 21 LILienLull6h @mmhiE auflenguleh auemasLILI(H S S 6T M6V CLNETMITLD @)L &6V 6Teu T

@@L ?
A Sankar
FBIGT
B: Gopi
GamLl
C: Kanthen
&[HS 60T

D: Data Inadequate
56 GUITSILDMETS TS ©)6V6M6V
23 Smitha runs 10 km south from her flat, turns left and walks 23 km again turns left and walks 40 km then turns right and walks 5 km to reach her office. In which
direction is the office from her house ?
s Hersl G WIELLN QMBS Q5MHES 10 &.S. @14 @LSILMD HGLLI 23 H.15. FLHBSI W@ GL&ILmb H G
40 B).18. LB LM auevgiLmid BN 5 GBS, BLIHSH H60TE VIS CQF6TMENLHSTH?
Sl6U6T e 1960 @ BHS! aeleusLD 6THSE HengFuilev 2_6Terg) ?

A: North
ALES
B: East
B&EE
C: South west
Q&6 GLMG
D: North east

QL P&
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24

25

26

Five friends are sitting on a bench in the following order :

(i) P is sitting next to Q and R is next to S.

(ii) S is not sitting with T; T is on the extreme left hand side of the bench and R is on second position from the right hand side.

(iii) P is on the right hand side of Q and to the right side of T. (iv) P and R sitting together

Who is sitting exactly in the middle ?

®bSI HevoTLIT&6T LleTeaubLd euflemauilev (b QLIEHFI60 DT HES (SR MTIEET.

() P eTedTLIOUT Q && ABHHRL LDMHMILD R 6TedTLIOT SHEG HBH L DT HH BHHHMTIEHET.

(i) S eTedTLIOUT T @ L60T npailéuemev; T eT6dTLIGUT QLIEHFI6L @ LS LIMSH 6L Sem L FILTSHE|D MHMILD R 6T60TLIAIT el6u S
UMES O GHS @UeorLmeugl @L &S 60 SDFHSIETeT &6,

(iii) P eT6dTLIGUT Q&G aUeLSILMSTavID LMHMILD T 6T6dTLIeUT{160T U6V &I LIM&S B aVILD SIL0F HSI6ETETTIE6T.

(iv) P LDMMILD R 6T6OTLIQUT&ET 260TMITE 0T H&I6TeTTI&H6T auflenguley mHedev Fflwimg ST HS G LILIeUT WITF?

A: Q
Q
B: R
R
C: P
P
D: T
T

Aruna cut a cake into two halves and cuts one half into smaller pieces of equal size. Each of the small pieces is twenty gram in weight. If she has seven pieces
of the cake in all with her, how heavy was the original cake.

S|([HEUOTIT 6(1H BGHE:6015 @) T6O0TL TS GlaUL_IQ60TITI. 62(IH LITHeMmL &L {66 &Hermd: Gl Si6uor(H &6mTe: GleUL 1q 6Ty,
Q6@ AW SletoT(HID @BLS B ITD 6TenL& Q&ML gl SjaleflLb QLTSS (L CHo Si6uoT(h 86T @) (HIHSH TV, 2I&F 60
G885 6T6URIEITE) &HEOTLOMTS @) (HIHSHSI?

A 240 grams
240 S\FTD
B: 120 grams
120 K ymibd
C: 140 grams
140 ®\ymib
D: 280 grams
280 @JITLD

In the given Venn diagram which region represents dancers who are also singers but not

school sfudents ¢

Spssran|d Gleustor suenyULSHIEL  L6Terfl  LDTEwTEUTEV6VTS  [HLETT

&606V(6hT&6T LOMMILD LITL&T&HEM6T (HM& &0 LGS 61817

m o w W
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C: A
A
D: F
F
27 In a pie diagram sum of the angles is :
QL eflemg & LILL &5 60T B8 MeooTd S 6T dol (H &6 EMTen S 6T60TLIS! G0,
A: 900
90°
B: 180°
180°
C: 3600
360°
D: j00°
100°
28 The technique of increasing the representation of a subpopulation in order to avoid errors due to small sample sizes is called :
AW I 2j6Tey &TFaornns Lenpsamers STLILSH&ETE @@ (DWensg Q&TE&GH U6 @ LITSBISH W
SH&fEG D wanm

A: Over sampling

=i5& LIHF W
B: Under sampling
Gmme| LG wenm
C: Representative
HrSp&ssieub
D: Data cleaning
BICUHDET GBIHE LIMTE S SH60

29 In sub-divided bar diagram different parts are drawn on :
FamILL e eNem&a&LILL G560 QalalCaln LIGH&6T @ems s Qamer(® alemnTWLILGSmS,

A Absolute figures

(LD(LDEDILDUIITEOT 6T600T600118560) 5
B : Percentages

alWa&sTH
C: Absolute figures or percentages

(PP EMLOUIITEOT 6TE00T6001 1856008 | 6Vev Gl el (&S T(H

D: Angles
@& IT6voT LD
30 In a frequency distribution, when the class intervals are fixed so that the upper limit of one class is the lower limit of the next class, then it is known as :

(b HHLDG66oT LITaUedl6 (frequency distribution) 6U@& LI @ emLQeueflags6T FflQawliu@mn CUMS, (b eu@GLILN6T GLD6L euIFLDL|
BH &5 a6 BLp euLITe @LILS

A: Class limits
LNfley eTévemen
B: Exclusive method
2 6T YL E&HMSH (MM
C: Inclusive method
2_6TemTL &S W (hemm
D: Same method
3CH D

31 A study based on complete enumeration is known as :
(LD DEDLDUWIITET &600Td6 & B L1LN 660 60)LOWILDITE @& T60oTL 2, U6 TEOTS eTeoTILI(HILD

A: Sample Survey

rerl syuiey
B: Pilot Survey

(PETGETITIY 2y Ul6)
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C: Census Survey

DG GH6T QB TeNSH 560016 &ML
D: Both Sample Survey and Pilot Survey

() LHDID (B)

32 Services at e-Pramaan includes :
(i) e-authentication
(i) Single Sign-on
(iii) Issue of Certificates
(iv) Payment Service

e-pramaan-63T GFem6UG 6T L 6dTau[HLmmI:
(i) W0\ 60T - RIS S TTLD
(i) RDEOD 2 6THIMLL6Y
(i) F eSS LD & 6T 6ULD IS 560
(iv) BLL60TLD QFNSSILD CFemeal
A (i), (ii) and (iii)
(i), (ii) LDHAILD (iii)
B: (i) and (ii)
(i) Lo OILD (ii)
C: (iii) and (iv)
(iii) LOMMILD (iv)
D: (i), (i) and (iv)
(i), (ii) LDHAYLD (iv)
33 The application developed by the ministry of electronics and information technology and National E-Governance Division to drive mobile governance in India
is:

LA 6BTevTEmI LOMMILD SH&H6U6 QS TLEVEIL LI S|emINEFFSLID InMmMID CHF W Ll6TaLEHenn S LD 3G UIeneal ) 6D 6o HS)
QUDITEMLIG | TEFMEEOTemIN&SH TS &Ml QLD 60T GLIT([H 6T TEoTSI

A Jeevan Praman
eSeu6oT LI Lomesor
B : Digital locker
6T QUL L&D
C: UMANG
UMANG
D: Digital Life Certificate
LA 63T QUITLDIBITET &Mt & LD
34 VOIP stands for
VOIP eTedTUI&!

A': Voice Internet Protocol
Voice Internet Protocol
B: Voice Information Protocol
Voice Information Protocol
C: Voice Over Internet Protocol
Voice Over Internet Protocol
D: Voice Over Information Protocol
Voice Over Information Protocol
35 A Collection of learning content based on a single learning objective is called

MM HMHML CHITHSHSMS I LILINL LTSS Q& TeoTL. &MM6V 2_6TeTL &8 MI& 66T Q&TEGLIL| GT6OTM)I
IOPESELILGHRMS!.

A: metadata
QULLIT &J6|
B: interactive object
oerl_MHID GILIMIH6T
C: learning object
SHMHMEL QUITIH6T
D: teaching object
&ML SH60 QUITHET
36 Which Statement (s) is/are true about PPP ?

(i) PPPs are concerned with services, not assets
(ii) suitable for all projects
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(iii) PPPs are novel method of developing public infrastructure
(iv) The Government does not need to own infrastructure to deliver services

s aevor LALNL)- Limmlw semmigerfley eTemel 2_65oTem Lo T6oTem 6 ?

() WA eresTLIg GFemeudseneT LMMIWLS QFTESIEHEm6TL LIMMIWLS (6060

(i) SIMETH S B LIS EHSHGSLD JHME!

(iii) LYY eTedTLIG QUG 2_6Ts L LemLnLiemn L GLOLDLI(H) S S!I61 S M &TEOT L|SI6MLOWITEOT (LHemm

(iv) CFMEUGHEMET QUPBITHL, T8 QFTHSLOMET 2 &L LemoLIL| en6us S (HoEe Geuetoriq il el LD E)evemey

A (i) & (i)
(i) LD DID (ii)
B: (i) & (iv)
(i) LDHIYLD (iv)
C: (i) & (iv)
(if) LOHOILD (iv)
D: (ii) & (ii)
(i) LoD WILD (iii)
37
Match the following.
Coastal length of states of Indian peninsular.
List-I List-1l
. Gujaraf i 300 km
. Karnataka i. 900km

. Tamilnadu ii. 1074 km
. Andrapradesh iv. 1600 km

O 0T

EnHwu Sushuslaerar ST WrHleum saflasTar SLDHEeT Hemmsafler SyaTansay
Glumm s 5 .
oL euemesor | = suemeser |l
(@ ©=S (1) 30048,
(o) SIBILST [2) 900 &L
[c) sWBlLETR (3) 1014 &L
d) ehilrislrGsesn (4) 1600 &6,

A a-iv, b-iii, c-ii, d-i
(2)-(4), (b)-(3), (©)-(2), (d)-(1)
B: a-iv,b-2,c¢c-1,d-3
(@)-(4), (6)-(2), (0)-(1), ()-(3)
C: a-4,b-1,c-2,d-3
(@)-(4), (b)-(1), (©)-(2), (D-(3)
D: a-1,b-2,c-3,d-4
(@)-(1), (6)-(2), (©)-(3), (-4
38 What was the binding target year to phaseout the HCFC as per Montreal protocol ?
o mesor L_flwieh eIl 5SS 60T LIl HCFC (e SiInma QeueflGumm eliL|d Q8 TeooTL 21,600T(H) 6T60T6or?

A: January 1, 2020
sgeoreuf] 1, 2020

B: January 1, 2015
sgeotaurfl 1, 2015

C: January 1, 2010
sgeoraufl 1,2010

D: January 1,2004
syeoreurf] 1, 2004
39 Minamata disease is caused by :

LSleTeoTTLOML LT GBI gLIL &Tyevof] G0

A: Lead Poisoning

&miful HEhs
B: Carbon monoxide

STTL6T GLomeoT m&:end (b
C: Mercury Poisoning

UTS0& BEhs
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D: Micro plastics

Bl600T QBSILS & 6T
40 ;
Match the following :
(1) Apnea (i) Loss of feeling
(2) Asphyxia (i) Cessation in breathing
(3) Anesthesia (i)  Difficulty of Oz supply to tissues
(4) Anoxia (iv] Stoppage of pulse
Choose the correct matches :
Qlummsas:
(i) eussflwm (a) = ewryed] @iy
(i) epeas Slewrmey (b)  aeumEsSleL BIMISHD
(iii) oyevrenOBEF WLIT () dlxssEmrsE 0:
suLpmIGHeuSHls0 FFLoD
(iv) =iGeormsenSlwum (d)  sply BIMISs0
Fiflwnest GlUM RS SMISmsT GHIHeISHH 5.
A (1)), (2)-(iv), (3)-(1), (4)-(iii)
(©).(b),( id). (d), (iiD). (a),(iv). (¢)
B (D)-(iii), (2)-(iv), (3)-(ii), (H)-()
(D)-(c), (ii). (d), (iii). (b), (iv). (a)
C: (D-(0), 2)-(iD), 3)-(iii), (4)-(iv)
(@) (a), (iD).(b), (iii). (¢ ), (iv). (d)
D: (1)-(iv), (2)-(iii), (3)-(iD), (4)-(1)
(- (d), (i). (c), (iii). (b), (iv). (a)
41 In which state Indian women's are actively participated in Chipko Movement ?
6THS LOMBlVSHV @ HH LI QLTS 6T FILICHT G UIHSHSH 60 SN0 LimiQ & H &S 6Ty
A: Himacahal Pradesh
@urFFell NyCs&ih
B: Uttar Pradesh
2 5570 NyCseih
C: Manipur
Lo6oofILILLIT
D: Haryana
amflwimeorm
42 Given below are two statements.
Statement I : Higher Education provides people with an opportunity to reflect on the critical social, economic, cultural, moral and spiritual issues facing
humanity.
Statement II : It contributes to National development through dissemination of specialised knowledge and skills.
Choose the correct answer from the options given below :
ECL @ TevoT(h 6UMEHRWLMIG6T Q& TH &8 LILL (B eTemer
QMGG LD 1: 106flE&6vld THTQSMETEBLD (NHRWILDTET Felnds, QUITBETTSTY, HEVTFSFTT LMD STTLWSE WHMID L6 5
F&sHGEmETL LD A E&H &S 2 Wi Hevall 10685EHEHEG aumiiliueflsE®Hmal
QAMGGEIWLD 2: @& FmUiL HenpliL| InHmILD HmeT&:emarTLl LIFLILeIS6T epeuld CSHAW auemTid& &G LnkiseflaSHmal
Fflwumer QTGN BHES LS &amer Qsfla) Q& iweab.
A: Both statements I and II are correct
QTGS WD T LMHMID eumEGSRWILD 1T @ Fevor(Gid &Fifl
B: Both statements I and II are incorrect
QMGG WD I MM eurgsSH WD I @ Fevor(HLd &Fiflwevev
C: Statement I is correct and Statement II is incorrect
QIME&GEWLD I &fl InmoId eum&sGWLD II Fiflulevey
D: Statement I is incorrect and Statement II is correct
aIm&&E WD I Fifluwevev MM eumsGHwih I &ifl
43 The First International conference on Environmental Education in India was held at ,in 1987.
@bewmailey &HmEF Gpe Hevall GNMES WHMaG FTalCsE LOMBTH 198760 6 BEOLQUMHMS!.
A New Delhi

LIS evel
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B: Hyderabad

QNS TTLIMS
C: Ahmedabad

IIGHOGTLUTS
D: Mumbai
(WLhemL
44 Which of the following Committee suggested the public spending in education should be 6% of GDP ?
FHLNGETET QLTSS 2 6THTL(H 2 HUSH UL 6% QFevalflgs GaleoT® LD 6reTmi LI6TauBLD 6ThH s & W LFhSIenTsHss!?

A: The Kothari Commission (1964-66)

C&MESM G (1964-66)
B: National policy on Education (1986)
CHAW Hevalld QGTeTen g (1986)
C: The Education Poilicy (1968)
56065 Q& TeTen s (1968)
D: Review of Education Policy (1990-91)
&Havals Q& meTenaUler LHLILITUIE] (1990-91)

45 is not the component of RUSA.
RUSA @\ 60T Fa.mI ©)6L60I6V.

A: Infrastructure giants to universities
LIV&E06VE &G MHIGHEHEE 2 6Ta L L emLDLIL] LOM6oi I 6T
B: Faculty improvement
AWl Cobur@®
C: Student scholarship
Inmeorel 2 s6ils Q5 mans
D: Vocationalization of Higher education
2 wisaaluller Qg mgleLoWInmTE: 60
Case Study from Question No. 46 to Question No. 50

PASSAGE

Computer technology has dramatically changed the landscape of business communication today. It is fast, annihilating the barriers of time and space and the
concept of our world turning into a small global village now appears to be a distinct and near possibility. For it is now possible to communicate instantaneously
with people inhabiting the remotest places possible.

To get a clear picture of the changes that have taken place, let us compare sending a message through a letter, with an E-mail message. In earlier times, the
manager dictated the letter to his secretary. When the secretary brought it typed, he reviewed it, revised it and got it retyped. In all probability he again made a
few modifications and got the final draft typed. The envelope was typed too. The letter was dropped in the mail and was delivered at the destination several days
later. The whole process was quite cumbersome and time-consuming.

Let us now think a situation in which two persons have the facility of two computer terminals connected on a network. One of them types a message on his
computer. He can edit it, alter it or reword it as many times as he likes in no time. When he is fully satisfied, he just presses a button and the message is
immediately transmitted to its destination. At the other end, the receiver can open the mail, read the message on the monitor and immediately respond to it, or
attend to it at his leisure. The whole process takes hardly more than a few minutes.

Fax, Voice mail. E-mail, cellular phones, video conferencing etc. are some of the computer based media of communication.

uss

Sevofleof] QS TUN6LEIL LD @)6dTm e16t0il8 HHaUVQSTLTL &6 T BlevliLrlienu efls s Wwenmuley nmmmluleTers. @ s
GaussLh, GBI LnMMID @)L SFH6T HemLSem6T 3G 5 alBRMS, CLad HLnG 2 51D e Al 2 usearmaill S ImnLnmes
LOMMILD 6T60TM &H([HS S G LICLIMSI @(H &evflgSalnmeT MHMID S|(HREVETET FMHERH UG MNTES QSFRMS!. G erefle,
QBTN @)L 8660 UFGHGLD D& & EHLET 2_L 60T WITS QST Q& MeTeug @UCUNG &FMHH WD MEGLD.

@56 plhenng &mnf gHUGID LTHMmSSL LM Qgeflains Mbsis C&M6TeT, @ &4 eLP6VLD e QF LIS e

I ILIL|6UM G, Ll 60T60TEH&F 6L Q& UG UL 60T L ILNHGeUTLD. (LNEITET T GLDGVITET HE0TS QIF LGV TET(HEE &1q.&H5 6058 Fn
QEFWELTETT MG S LFF QFUISI, CLTETT emngs HHSH W L@ Wear(GIb S LEFF QFUIS @mIF alenrenel HL Lo
QFEWSTY. Sauflauld S LFHF QEFWWLILL LS. S19&LD SLmedlev yeiuliul @), Lev BTl &ehsGL Nm@ QuabilLLh
QUPMBISLILL LS. (PW QFWeWeamw b &6 F&&Heumars MM GBS S 61(h S5 66 & METEHLD.

@@ QBLQaUTTEHER @) emetors:sLILIL L @) Tevor(h &evoflel] (L6t 6oT W Mhi & 6rfleiT 6uaSHemil @) T6oor(h) HLITE 6T G)& MesorLq.(H & & LD
GLpBlemeveml @ LIGLIMTE ABH LIGLITID. 3jeuiserflel pheul el sevotlenfliley (b QF LG e FL L &S QFWRMTY. 36Ul
MG LIV HBSS DTHMETLD. e (W BGLS L BHSSID, Sl @@ QLTSSTOT (WSS 6T, QF S

2 LW 56T CFHLILSHMHES e ILILGSRME. LnMINeneTuiley, QUMILIOIT SEhFanevd Hmb& meofllLiflev

2 _dTem QFWH WLl LIgGES 2 Lerigwns: LFevefle:aserid 96veug Sleurs eule] CHISH 6 &s 56l6fl&aeITD. (DLW
QEFWeLWmMULD Flev BIALMISHEE5E CLO6L 6T(H & ST

Fax, Voice 2|@€h&F6V. LI 60TEUTEH&F 6V, QFLaN6VTT QFTemeVGBLITF), e6fle: &ML & &H6eubHSenTWITL60 GLIMTETMmemal &6voflLIQ T
FMbHS HH6U6V QGTLITL]| &FTSH60T R SH6TTSLD.

46 What happens at the receiver's end in computer based communication ?

Sevotlevfl o1 LiLiemL_ufleumenT H&H 6160 QS TLTLN6L QLMK @)L &5 6L 6TetTarT Bl&HLLERMS?

A . the message is printed and delivered by mail
QFWIH 2jEhFev epeuld HFFLLILLG aupmsLILGSMS!

B: the message can be read on the monitor and responded to immediately
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47

48

49

50

QEFWBemw meofllLiflev LIgSS 2 L eriquimss LiSleverflégeumin
C: the message is stored in a physical folder

QFWE @ CUMeLflev CFll&EELILGTMS
D : the receiver has to wait for a few days to read it

IS LIES QUMIBT Flev BITLG6T &MTHH [HEE Causuor(®) D
How has computer technology changed the context of business communication ?

Gevoflenll Qs MSleLEILLILD 6160118 H&HaIVRSTLTL| @MV 6Telalmmi MMl eTerg?

A: it has made communication slower
@8 HEHAILRSTLTaU QLOSI6ITHS W 6T6Ts
B : it has reduced the need for communication
@18 HH6I6V QSTLTLIGHETET CHemalenl &6MMESI6TenSl
C: it has dramatically improved the speed and ease of communication
@8 550G TLILN6T Coudsgens b erefleminenwiub eSS ES Wenmuiev GG & B U] 6Ters!
D : it has made communication less effective
@8 HHAIMQSTLIML GMMIES C&F WVTHMET G860 &TE 2,8 5 IL6Teng
What is becoming a reality due to advances in communication technology ?

QaMEBIL L eueTFERUN6IT &ITI6OTONg S&H6a160 QGTLILI6 6Tg WSTTSSIME audHERaTms?

A: awork environment without problems
Nr&R em 60786l @) 606VMS LIGuol & & LD 6L
B: the world becoming a small global village
2 QG @@ FMW L,EC&HTeT SGITLOLOTS OMMIH6)
C: physical office spaces becoming obsolute
S|IEUEVE @)L MG 66T CHemal LenMHS! eUGEH ME!
D: reduced use of computers in communication
H556160 QG TLFTLI6 &evoflenll&erleor LiLedrLIm® &enm&ev
What made the earlier method of communication through letters cumbersome and time consuming ?

(LB G L 55195 BIGHET CLOEVLDITET H&HEU6V QSTLITL| (LNEMeN L F&HEHVMaTSTHa D, GBS MG 6T(h &5l 66 & TETal S T 6D
SLERIG 6TSI?

A the ease of typing letters
B HHIGHO6T L LFFH QF LB 6 eTerflenio
B: employees refusing to send letters
S HHIGET eI LDMIGEGLD 26mSlulIT&s 6T
C: sending letters via fax
QB M6V aULSIWITE &51q.&MIGeM6T 2 6ILIL|&560
D : multiple steps involved in the process such as dictating typing et cetera
B 5HMGSH Fall LIDG 605 SLLEFH QFeug GUITETM GIEFWEVLITLIG6) 2 6T LI6V LILG &6iT
Which of the following is not a computer based communication method ?
LY edreu(meuesteumnilev 6T & 60016011 419 LILI6) L UN6VITET H86U60 QS TLTL (LMD {6V6V?

A: e-mail

L) 65T 60T (65 &F 6V
B: fax

Q&TetI6L 5560

C: postal-service
SLIMTeL-GFemal
D: video-conferencing

aflq GUUIT &ITedTLIT6T & MBI
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